Electronic Journal of Mathematical Analysis and Applications Vol. 2(1) Jan. 2014, pp. 228-236. ISSN: 2090-792X (online) http://ejmaa.6te.net/

HARMONIC UNIVALENT FUNCTIONS WITH VARYING ARGUMENTS DEFINED BY USING INTEGRAL OPERATOR

M. K. AOUF, R. M. EL-ASHWAH AND F. M. ABDULKAREM

ABSTRACT. In this paper we define and investigate a new class of harmonic functions by using an integral operator with varying arguments. We obtain coefficients inequalities, extreme points and distortion theorem.

1. INTRODUCTION

A continuous complex-valued function f = u + iv which is defined in a simply-connected complex domain D is said to be harmonic in D if both u and v are real harmonic in D. In any simply-connected domain we can write

$$f = h + \overline{g},\tag{1.1}$$

where h and g are analytic in D. We call h the analytic part and g the co-analytic part of f. A necessary and sufficient condition for f to be locally univalent and sense-preserving in D is that $|h'(z)| > |g'(z)|, z \in D$ (see [4]).

Denote by S_H the class of functions f of the form (1.1) that are harmonic univalent and sense-preserving in the unit disc $U = \{z \in \mathbb{C} : |z| < 1\}$ for which $f(0) = f_z(0) - 1 = 0$. Then for $f = h + \overline{g} \in S_H$ we may express the analytic functions h and g as follows:

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k, \ g(z) = \sum_{k=1}^{\infty} b_k z^k, |b_1| < 1.$$
(1.2)

In 1984 Clunie and Shell-Small [[4] investigated the class S_H as well as its geometric subclasses and obtained some coefficient bounds. Since then, there have been several related papers on S_H and its subclasses (see [[9], [11], [15] and [16]).

The integral operator I_{λ}^{n} is defined as follows (see [2], with p = 1, also see [7], with $\ell = 0$): (i) $I^{0}f(z) = f(z)$;

(ii)
$$I_{\lambda}^{1}f(z) = \frac{1}{\lambda}z^{1-\frac{1}{\lambda}}\int_{0}^{z}t^{\frac{1}{\lambda}-2}f(t)dt$$

(iii) $I_{\lambda}^{n}f(z) = \frac{1}{\lambda}z^{1-\frac{1}{\lambda}}\int_{0}^{z}t^{\frac{1}{\lambda}-2}I_{\lambda}^{n-1}f(t) \ (\lambda \ge 0; n \in \mathbb{N} = \{1, 2, 3, ...\})$ In this paper we now define the integral operator for harmonic univalent functions f(z) such that h(z) and g(z) are given by (1.2) as follows:

$$I_{\lambda}^{n}f(z) = I_{\lambda}^{n}h(z) + (-1)^{n}\overline{I_{\lambda}^{n}g(z)},$$
(1.3)

²⁰⁰⁰ Mathematics Subject Classification. 30C45.

Key words and phrases. Harmonic, analytic, varying arguments, integral operator. Submitted August. 29, 2013.

where

$$I_{\lambda}^{n}h(z) = z + \sum_{k=2}^{\infty} [1 + \lambda(k-1)^{-n}a_{k}z^{k} \text{ and } I_{\lambda}^{n}g(z) = \sum_{k=1}^{\infty} [1 + \lambda(k-1)^{-n}b_{k}z^{k} (|b_{1}| < 1).$$

With the help of the modified integral operator I_{λ}^{n} we let $G_{H}(m, n, \lambda; \gamma, \rho)$ be the family of harmonic functions $f = h + \overline{g}$, which satisfy the condition

$$Re\left\{\left(1+\rho e^{i\alpha}\right)\frac{I_{\lambda}^{n}f(z)}{I_{\lambda}^{m}f(z)}-\rho e^{i\alpha}\right\}\geq\gamma\tag{1.4}$$

$$(\alpha \in \mathbb{R}; 0 \le \gamma < 1; \rho \ge 0; \lambda \ge 0; m \in \mathbb{N}, n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}; m > n; z \in U),$$

where $I_{\lambda}^n f$ is defined by (1.3).

we note that:

(i) Taking m = n+1, $\rho = 0$, $\lambda = 1$, $G_H(n+1, n; 1, \gamma, 0) = H(n, \gamma)$ ($m \in \mathbb{N}$; $n \in \mathbb{N}_0; 0 \le \gamma < 1$) (see Cotirla [5]);

(ii) Taking $\lambda = 1$, $G_H(m, n, 1; \gamma, \rho) = G_H(m, n; \gamma, \rho)$ (see El-Ashwah et al. [6]);

(iii) Taking m = n + 1, $\rho = 0$, $G_H(m, n, \lambda; \gamma, 0) = H_\lambda(n; \gamma)$ $(n \in \mathbb{N}_0; \lambda > 0; 0 \le \gamma < 1)$ (see Seoudy [14], with p = 1);

(iv) Taking $\lambda = 1$, then $G_H(m, n, 1, \gamma, \rho) = H(m, n; \gamma)$ (see Güney and Sakar [8]). Also we note that, by the special choices of α , γ , ρ , m and n, we obtain:

(i) Taking $\rho = 0$, then $G_H(m, n, \lambda, \gamma, 0) = H(m, n, \lambda; \gamma) = \left\{ f \in S_H : \right\}$

$$Re\left\{\frac{I_{\lambda}^{n}f(z)}{I_{\lambda}^{m}f(z)}\right\} > \beta\left(\lambda > 0; 0 \le \gamma < 1; m \in \mathbb{N}; n \in \mathbb{N}_{0}; m > n; z \in U\right)\right\};$$

(ii)
$$G_H(n+1, n, \lambda; \gamma, \rho) = G_H(n, \lambda; \gamma, \rho) = \left\{ f \in S_H : Re \left\{ \left(1 + \rho e^{i\alpha} \right) \frac{I_\lambda^n f(z)}{I_\lambda^{n+1} f(z)} -\rho e^{i\alpha} \right\} \ge \gamma \left(\alpha \in \mathbb{R}; 0 \le \gamma < 1; \rho \ge 0; \lambda \ge 0; n \in \mathbb{N}_0; z \in U \right) \right\};$$

(iii)
$$G_H(1,0,\lambda;\gamma,\rho) = G_H(\lambda,\gamma,\rho) = \left\{ f \in S_H : Re\left\{ \left(1+\rho e^{i\alpha}\right) \frac{f(z)}{I_\lambda^1 f(z)} - \rho e^{i\alpha} \right\} \ge \gamma$$

 $(\alpha \in \mathbb{R}; 0 \le \gamma < 1; \rho \ge 0; \lambda \ge 0; z \in U) \right\}.$

Definition 1 [10]. Let V_H denoted the class of functions $f = h + \overline{g}$ for which h and g are of the form (1.2) and there exist a real number ϕ so that, mod 2π ,

 $\arg(a_k) + (k-1)\phi \equiv \pi$ and $\arg(b_k) + (k-1)\phi \equiv 0, \ k \ge 2.$

We also let $V_{\overline{H}} = \overline{H} \cap V_H$.

Some subclasses of harmonic univalent functions with varying arguments were itroduced and studied by various authors (see [1] and [13]).

Also we now define the subclass $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$ consists of harmonic functions $f_n = h + \overline{g}_n$ in $G_H(m, n, \lambda; \gamma, \rho)$ such that h and g_n are of the form:

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k \quad , \quad g_n(z) = \sum_{k=1}^{\infty} b_k z^k \ (|b_1| < 1).$$
(1.5)

and there exist a real number ϕ such that, mod 2π ,

$$\arg(a_k) + (k-1)\phi \equiv \pi, \ k \ge 2 \text{ and } \arg(b_k) + (k+1)\phi \equiv (n-1)\pi, \ k \ge 1.$$
 (1.6)

Also we note that, by the special choices of α , γ , m and n, we obtain:

(i) Taking $\rho = 0$, $V_{\overline{H}}(m, n, \lambda; \gamma, 0) = V_{\overline{H}}(m, n, \lambda; \beta)$ $(m \in \mathbb{N}; n \in \mathbb{N}_0; \lambda \ge 0; 0 < \gamma \le 1);$ (ii) $V_{\overline{H}}(n + 1, n, \lambda; \gamma, \rho) = V_{\overline{H}}(n, \lambda; \gamma, \rho)$ $(n \in \mathbb{N}_0; \lambda \ge 0);$ (iii) $V_{\overline{H}}(1, 0, \lambda; \gamma, \rho) = V_{\overline{H}}(\lambda, \gamma, \rho).$ 2. Geometric properties of the classes $G_H(m, n, \lambda; \gamma, \rho)$ and $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$

Unless otherwise mentioned, we assume in the reminder of this paper that, $\alpha \in \mathbb{R}$, $0 \leq \gamma < 1, \rho \geq 0, \lambda \geq 0, m \in \mathbb{N}, n \in \mathbb{N}_0, m > n$ and $z \in U$. We begin with a sufficient coefficients condition for functions in the class $G_H(m, n, \lambda; \gamma, \rho)$.

Theorem 1. Let $f = h + \overline{g}$ be such that h and g are given by (1.2) and if

$$\sum_{k=1}^{\infty} \left[\frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} |a_k| + \frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (-1)^{m-n}(\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} |b_k| \right] \le 2, \quad (2.1)$$

where $a_1 = 1$. Then $f \in G_H(m, n, \lambda; \gamma, \rho)$.

Proof. To prove that $f \in G_H(m, n, \lambda; \gamma, \rho)$. We only need to show that if (2.1) holds, then the condition (1.4) is satisfied, then. Our aim is to show that

$$Re\left\{\frac{\left(1+\rho e^{i\alpha}\right)I_{\lambda}^{n}f(z)-\rho e^{i\alpha}I_{\lambda}^{m}f(z)}{I_{\lambda}^{m}f(z)}\right\}=Re\frac{A(z)}{B(z)}\geq\gamma.$$
(2.2)

Using the fact that $Re\{w\} > \gamma$ if and only if $|1 - \gamma + w| > |1 + \gamma - w|$, it suffices to show that

$$|A(z) + (1 - \gamma)B(z)| - |A(z) - (1 + \gamma)B(z)| \ge 0,$$
(2.3)

where $A(z) = (1 + \rho e^{i\alpha}) I_{\lambda}^{n} f(z) - \rho e^{i\alpha} I_{\lambda}^{m} f(z)$ and $B(z) = I_{\lambda}^{m} f(z)$. Substituting for A(z) and B(z) in the left side of (2.3) we obtain

$$\begin{split} \left| (1+\rho e^{i\alpha})I_{\lambda}^{n}f(z) - \rho e^{i\alpha}I_{\lambda}^{m}f(z) + (1-\gamma)I_{\lambda}^{m}f(z) \right| \\ &- \left| (1+\rho e^{i\alpha})I_{\lambda}^{n}f(z) - \rho e^{i\alpha}I_{\lambda}^{m}f(z) - (1-\gamma)I_{\lambda}^{m}f(z) \right| \\ &= \left| (2-\gamma)z + \sum_{k=2}^{\infty} [\left([1+\lambda(k-1)]^{-n} + (1-\gamma)\left[1+\lambda(k-1)\right]^{-m} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-n} - [1+\lambda(k-1)]^{-m} \right) - [1+\lambda(k-1)]^{-m} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-n} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-m} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-n} - [1+\lambda(k-1)]^{-m} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-n} - [1+\lambda(k-1)]^{-m} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-n} - [1+\lambda(k-1)]^{-m} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-n} - [1+\lambda(k-1)]^{-m} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} + (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} + (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} + (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n} \right) \\ &+ \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-n} + (-1)^{m-n}\left[1+\lambda(k-1)\right]^{-n}$$

$$\geq (2-\gamma) |z| - \sum_{k=2}^{\infty} \left[(1+\rho) [1+\lambda(k-1)]^{-n} - (\gamma+\rho-1) [1+\lambda(k-1)]^{-m} \right] |a_k| |z|^k \\ - \sum_{k=1}^{\infty} |(1+\rho) [1+\lambda(k-1)]^{-n} - (-1)^{m-n} (\gamma+\rho-1) [1+\lambda(k-1)]^{-m} |b_k| |z|^k \\ - \gamma |z| - \sum_{k=2}^{\infty} \left[(1+\rho) [1+\lambda(k-1)]^{-n} - (\gamma+\rho+1) [1+\lambda(k-1)]^{-m} \right] |a_k| |z|^k \\ - \sum_{k=1}^{\infty} |(1+\rho) [1+\lambda(k-1)]^{-n} - (-1)^{m-n} (\gamma+\rho+1) [1+\lambda(k-1)]^{-m} |b_k| |z|^k \\ + \rho e^{i\alpha} \left([1+\lambda(k-1)]^{-m} - (-1)^{m-n} [1+\lambda(k-1)]^{-n} \right)]\overline{b_k z^k} \right| \\ \geq 2 \left\{ (1-\gamma) - \left[\sum_{k=2}^{\infty} \left[(1+\rho) [1+\lambda(k-1)]^{-n} - (\gamma+\rho) [1+\lambda(k-1)]^{-m} \right] |a_k| \\ + \sum_{k=1}^{\infty} \left[(1+\rho) [1+\lambda(k-1)]^{-n} - (-1)^{m-n} (\gamma+\rho) [1+\lambda(k-1)]^{-m} \right] |b_k| \right] \right\}$$

 \geq 0, this by using (2.1).

The harmonic univalent functions

 \sim

$$f(z) = z + \sum_{k=2}^{\infty} \frac{1-\gamma}{(1+\rho)[1+\lambda(k-1)]^{-n} - (\gamma+\rho)[1+\lambda(k-1)]^{-m}} x_k z^k + \sum_{k=1}^{\infty} \frac{1-\gamma}{(1+\rho)[1+\lambda(k-1)]^{-n} - (-1)^{m-n}(\gamma+\rho)[1+\lambda(k-1)]^{-m}} \overline{y_k z^k},$$
(2.4)

where $\sum_{k=2}^{\infty} |x_k| + \sum_{k=1}^{\infty} |y_k| = 1$, shows that the coefficient bound given by (2.1) is sharp. This completes the proof of Theorem 1.

In the following theorem, it is shown that the condition (2.1) is also necessary for function $f_n = h + g_n$, where h and g_n are of the form (1.5).

Theorem 2. Let $f_n = h + g_n$, where h and g_n are given by (1.5). Then $f_n \in V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$, if and only if the coefficient condition (2.1) holds.

Proof. Since $V_{\overline{H}}(m, n, \lambda; \gamma, \rho) \subseteq G_H(m, n, \lambda; \gamma, \rho)$, we only need to prove the "only if" part of the theorem. For functions $f_n = h + g_n$, where h and g_n are given by (1.5), the inequality (1.4) with $f = f_n$ is equivalent to

$$Re\left\{\frac{(1+\rho e^{i\alpha})[z+\sum_{k=2}^{\infty}[1+\lambda(k-1)]^{-n}a_{k}z^{k}+(-1)^{n}\sum_{k=1}^{\infty}[1+\lambda(k-1)]^{-n}\overline{b}_{k}\overline{z}^{k}]}{z+\sum_{k=2}^{\infty}[1+\lambda(k-1)]^{-m}a_{k}z^{k}+(-1)^{m}\sum_{k=1}^{\infty}[1+\lambda(k-1)]^{-m}\overline{b}_{k}\overline{z}^{k}}\right\}$$
$$-Re\left\{\frac{(\gamma+\rho e^{i\alpha})[z+\sum_{k=2}^{\infty}[1+\lambda(k-1)]^{-m}a_{k}z^{k}+(-1)^{n}\sum_{k=1}^{\infty}[1+\lambda(k-1)]^{-m}\overline{b}_{k}\overline{z}^{k}]}{z+\sum_{k=2}^{\infty}[1+\lambda(k-1)]^{-m}a_{k}z^{k}+(-1)^{m}\sum_{k=1}^{\infty}[1+\lambda(k-1)]^{-m}\overline{b}_{k}\overline{z}^{k}}\right\}>0$$

The above condition holds for all values of $\alpha \in \mathbb{R}$ and $z \in U$. Upon choosing ϕ according (1.6) and substituting $\alpha = 0$ and $z = re^{i\phi}(0 < r < 1)$, we must have

$$\frac{E}{1 - \left[\sum_{k=2}^{\infty} [1 + \lambda(k-1)]^{-m} |a_k| - (-1)^{m+n-1} \sum_{k=1}^{\infty} [1 + \lambda(k-1)]^{-m} |b_k|\right] r^{k-1}} > 0,$$
(2.5)

where

$$E = (1 - \gamma) - \left(\sum_{k=2}^{\infty} \left[(1 + \rho) [1 + \lambda(k - 1)]^{-n} - (\gamma + \rho) [1 + \lambda(k - 1)]^{-m} \right] |a_k| \right) r^{k-1} - \left(\sum_{k=1}^{\infty} \left[(1 + \rho) [1 + \lambda(k - 1)]^{-n} - (-1)^{m-n} (\gamma + \rho) [1 + \lambda(k - 1)]^{-m} \right] |b_k| \right) r^{k-1}.$$

If the inequality (2.1) does not hold, then E is negative for r sufficiently close to 1. Thus there exists $z_0 = r_0$ in (0, 1) for which the quotient in (2.5) is negative. But this is a contradiction, then the proof of Theorem 2 is completed.

We now obtain the distortion theorem for functions in the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$.

Theorem 3. Let $f_n = h + g_n$, where h and g_n are given by (ref1.5) and $f_n \in V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$. Then for |z| = r < 1, we have

$$|f_{n}(z)| \leq (1+|b_{1}|)r + \left[\frac{1-\gamma}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}} - \frac{(1+\rho) - (-1)^{m-n}(\gamma+\rho)}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}}|b_{1}|\right]r^{2}, \quad (2.6)$$

and

$$|f_{n}(z)| \geq (1 - |b_{1}|) r - \left[\frac{1 - \gamma}{(1 + \rho)(1 + \lambda)^{-n} - (\gamma + \rho)(1 + \lambda)^{-m}} - \frac{(1 + \rho) - (-1)^{m-n}(\gamma + \rho)}{(1 + \rho)(1 + \lambda)^{-n} - (\gamma + \rho)(1 + \lambda)^{-m}} |b_{1}|\right] r^{2}.$$

$$(2.7)$$

The equalities in (2.6) and (2.7) are attained for the functions f given by

$$f_{1,\phi}(z) = (1+|b_1|)\overline{z} + \left[\frac{1-\gamma}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}} - \frac{(1+\rho) - (-1)^{m-n}(\gamma+\rho)}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}}|b_1|\right]\overline{z}^2 e^{-i\phi}, \quad (2.8)$$

and

$$f_{2,\phi}(z) = (1 - |b_1|) \overline{z} - \left[\frac{1 - \gamma}{(1 + \rho)(1 + \lambda)^{-n} - (\gamma + \rho)(1 + \lambda)^{-m}} - \frac{(1 + \rho) - (-1)^{m-n}(\gamma + \rho)}{(1 + \rho)(1 + \lambda)^{-n} - (\gamma + \rho)(1 + \lambda)^{-m}} |b_1| \right] \overline{z}^2 e^{-i\phi}, \quad (2.9)$$

where $|b_1| \leq \frac{1-\gamma}{(1+\rho) - (-1)^{m-n} (\gamma+\rho)}$.

Proof. We prove the first inequality.

Let $f_n \in V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$, we have

$$\begin{split} |f_{n}(z)| &\leq (1+|b_{1}|) r + \sum_{k=2}^{\infty} \left(|a_{k}| + |b_{k}|\right) r^{k} \leq (1+|b_{1}|) r + r^{2} \sum_{k=2}^{\infty} \left(|a_{k}| + |b_{k}|\right) \\ &\leq (1+|b_{1}|) r + r^{2} \left[\frac{1-\gamma}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}} \sum_{k=2}^{\infty} \frac{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}}{1-\gamma} \left(|a_{k}| + |b_{k}|\right) \right] \\ &\leq (1+|b_{1}|) r + \frac{1-\gamma}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}} \\ &\quad r^{2} \sum_{k=2}^{\infty} \left[\frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (\gamma+\rho)(1+\lambda(k-1)]^{-m}}{1-\gamma} |a_{k}| \right. \\ &\quad + \frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (-1)^{m-n}(\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} |b_{k}| \right] \\ &\leq (1+|b_{1}|) r + \frac{1-\gamma}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}} \left[1 - \frac{(1+\rho) - (-1)^{m-n}(\gamma+\rho)}{1-\gamma} |b_{1}| \right] r^{2} \\ &\leq (1+|b_{1}|) r + \left[\frac{1-\gamma}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}} - \frac{(1+\rho) - (-1)^{m-n}(\gamma+\rho)}{(1+\rho)(1+\lambda)^{-n} - (\gamma+\rho)(1+\lambda)^{-m}} |b_{1}| \right] r^{2}. \end{split}$$

The proof of the second inequality is similar, thus it is left.

The bounds given in Theorem 3 for functions $f_n = h + \overline{g}_n$ such that h and g_n are given by (1.5) also hold for functions $f = h + \overline{g}$ such that h and g are given by (1.2) if the coefficient condition (2.1) is satisfied.

Next using the same technique used earlier by Aghalary [1] we obtain the extreme points of the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$.

Theorem 4. The closed convex hull of the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$ denoted by $clcoV_{\overline{H}}(m, n; \gamma, \rho)$ is

$$\left\{ f(z) = z + \sum_{k=2}^{\infty} a_k z^k + \sum_{k=1}^{\infty} b_k z^k \in G_H(m, n, \lambda; \gamma, \rho) : \\ \sum_{k=1}^{\infty} \left[\frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} |a_k| + \frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (-1)^{m-n}(\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} |b_k| \right] \le 2 \right\},$$

where $a_1=1$. Set $\lambda_k = \frac{1-\gamma}{(1+\rho)[1+\lambda(k-1)]^{-n}-(\gamma+\rho)[1+\lambda(k-1)]^{-m}}$ and $\mu_k = \frac{1-\gamma}{(1+\rho)[1+\lambda(k-1)]^{-n}-(-1)^{m-n}(\gamma+\rho)[1+\lambda(k-1)]^{-m}}$. For b_1 fixed, $|b_1| \leq \frac{1-\gamma}{(1+\rho)-(-1)^{m-n}(\gamma+\rho)}$, the extreme points of the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$ are

$$\left\{z + \lambda_k x z^k + \overline{b_1} z\right\} \cup \left\{\overline{z + \mu_k x z^k + b_1 z}\right\},$$
(2.10)

where $k \ge 2$ and $|x| = 1 - \frac{(1+\rho) - (-1)^{m-n} (\gamma + \rho)}{1-\gamma}$.

Proof. Any function $f \in V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$ may be expressed as

$$f(z) = z + \sum_{k=2}^{\infty} |a_k| e^{i\beta_k} z^k + \overline{b_1 z} + \sum_{k=2}^{\infty} |b_k| e^{i\delta_k} z^k,$$

where the coefficients satisfy the inequality (2.1). Set

$$h_1(z) = z, \ g_1(z) = b_1 z, \ h_k(z) = z + \lambda_k e^{i\beta_k} z^k, \ g_k(z) = b_1 z + \mu_k e^{i\delta_k} z^k, \ k = 2, 3, ...,$$

writing $X_k = \frac{|a_k|}{\lambda_k}$, $Y_k = \frac{|b_k|}{\mu_k}$, k = 2, 3, ... and $X_1 = 1 - \sum_{k=2}^{\infty} X_k$, $Y_1 = 1 - \sum_{k=2}^{\infty} Y_k$, we have

$$f(z) = \sum_{k=1}^{\infty} \left(X_k h_k(z) + \overline{Y_k g_k(z)} \right).$$

In particular, setting

$$f_1(z) = z + \overline{b_1 z},$$

and

$$f_k(z) = z + \lambda_k x z^k + \overline{b_1 z} + \mu_k y z^k,$$
$$\left(k \ge 2, |x| + |y| = 1 - \frac{(1+\rho) - (-1)^{m-n} (\gamma + \rho)}{1 - \gamma} |b_1|\right)$$

we see that extreme points of the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$ are contained in $\{f_k(z)\}$. To see that $f_1(z)$ is not an extreme point, note that $f_1(z)$ may be written as

$$f_{1}(z) = \frac{1}{2} \left\{ f_{1}(z) + \lambda \left(1 - \frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (-1)^{m-n} (\gamma+\rho) [1+\lambda(k-1)]^{-m}}{1-\gamma} |b_{1}| \right) z^{2} \right\} \\ + \frac{1}{2} \left\{ f_{1}(z) - \lambda \left(1 - \frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (-1)^{m-n} (\gamma+\rho) [1+\lambda(k-1)]^{-m}}{1-\gamma} |b_{1}| \right) z^{2} \right\},$$

a convex linear combination of functions in the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$. Next we will show if both $|x| \neq 0$ and $|y| \neq 0$, then f_k is not an extreme point. Without loss of generality, assume $|x| \geq |y|$. Choose $\epsilon > 0$ small enough so that $\epsilon < \frac{|x|}{|y|}$. Set $A = 1 + \epsilon$ and $B = 1 - \left|\frac{\epsilon x}{y}\right|$, we then see that both

$$t_1(z) = z + \lambda_k x A z^k + \overline{b_1 z + \mu_k y B z^k}$$

and

$$t_2(z) = z + \lambda_k x (2 - A) z^k + \overline{b_1 z + \mu_k y (2 - B) z^k},$$

are in the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$ and note that

$$f_k(z) = \frac{1}{2} (t_1(z) + t_2(z)).$$

The extremal coefficient bounds shows that functions of the form (2.10) are the extreme points for the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$, then the proof of Theorem 4 is completed.

Finally we will examine the closure properties of the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$ under the generalized Bernardi-Libera-Livingston integral operator (see [3, 12]) $L_c(f)$ which is defined by

$$L_{c}(f(z)) = \frac{c+1}{z^{c}} \int_{0}^{z} t^{c-1} f(t) dt \quad (c > -1).$$
(2.11)

Theorem 5. Let $f_n = h + g_n \in V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$, where h and g_n are given by (1.5). Then $L_c(f_n(z))$ belongs to the class $V_{\overline{H}}(m, n, \lambda; \gamma, \rho)$.

Proof. From the representation of $L_c(f_n(z))$, it follows that

$$L_{c}(f_{n}(z)) = \frac{c+1}{z^{c}} \int_{0}^{z} t^{c-1} \left(h\left(t\right) + \overline{g}_{n}(t)\right) dt$$

$$= \frac{c+1}{z^{c}} \int_{0}^{z} t^{c-1} \left\{t + \sum_{k=2}^{\infty} a_{k} t^{k} + \overline{\sum_{k=1}^{\infty} b_{k} t^{k}}\right\} dt$$

$$= z + \sum_{k=2}^{\infty} A_{k} z^{k} + \overline{\sum_{k=1}^{\infty} B_{k} z^{k}},$$

where $A_k = \frac{c+1}{c+k}a_k$, $B_k = \frac{c+1}{c+k}b_k$. Therefore, we have,

$$\begin{split} &\sum_{k=1}^{\infty} \left[\frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} \frac{c+1}{c+k} |a_k| \right. \\ &\left. + \frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (-1)^{m-n} (\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} \frac{c+1}{c+k} |b_k| \right] \\ &\leq \sum_{k=1}^{\infty} \left[\frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} |a_k| \right. \\ &\left. + \frac{(1+\rho)[1+\lambda(k-1)]^{-n} - (-1)^{m-n} (\gamma+\rho)[1+\lambda(k-1)]^{-m}}{1-\gamma} |b_k| \right] \leq 2, \end{split}$$

and the proof of Theorem 5 is completed.

Remark 1. (i) Putting m = n + 1 ($n \in \mathbb{N}_0$), $\rho = 0$ and $\lambda = 1$ in the above results, we obtain the corresponding results obtained by Cotirla [5]);

(ii) Putting $\lambda = 1$ in the above results, we obtain the corresponding results obtained by El-Ashwah et al. [6];

(iii) Putting m = n+1 ($n \in \mathbb{N}_0$) and $\rho = 0$ in the above results, we obtain the corresponding results obtained by Seoudy [14], with p = 1];

(iv) Putting $\lambda = 1$ in the above results, we obtain the corresponding results obtained by Güney and Sakar [8].

References

- R. Aghalary, Goodman-Salagean-type, Harmonic univalent functions with varying arguments, Internat. J. Math. Anal., 1 (2007), no. 22, 1051-1057.
- [2] M. K. Aouf and T. M. Seoudy, On differential sandwich theorems of p-valent analytic functions defined by the integral operator, Arab. J. Math., (2013), 147-158.
- [3] S. D. Bernardi, Convex and starlike univalent functions. Trans. Amer. Math. Soc., 135 (1969), 429-446.
- [4] J. Clunie and T. Sheil-Small, Harmonic univalent functions, Ann. Acad. Sci. Fenn. Ser. A. I. Math., 9 (1984), 3-25.
- [5] L. I. Cotirla, Harmonic univalent functions defined by an integral operator, Acta Univ. Apulensis, 17 (2009), 95-105.
- [6] R. M. El-Ashwah, M. K. Aouf, A. A. M. Hassan and A. H. Hassan, Harmonic univalent functions with varying arguments defined by using Salagean integral operator, TWMS J. Pure Appl. Math., 4 (2013), no. 1, 95-103.
- [7] R. M. Él-Ashwah and M. K. Aouf, Differential subordination and superordination for certain subclasses of analytic functions involving an extended integral operator, Acta Univ. Apulensis, 28 (2011), 341-350.
- [8] H. Ö. Güney and F. M. Sakar, A new class of harmonic uniformly starlike functions defined by an integral operator, General Math., 20 (2012), no. 1, 75-83
- [9] J. M. Jahangiri, Harmonic functions starlike in the unit disk, J. Math. Anal. Appl., 235 (1999), no. 2, 470-477.
- [10] J. M. Jahangiri and H. Silverman, Harmonic univalent functions with varying arguments, Internat. J. Appl. Math., 8 (2002), no. 3, 267-275.
- [11] Y. C. Kim, J. M. Jahangiri and J. H. Choi, Certain convex harmonic functions, Internat. J. Math. Math. Sci., 29 (2002), no. 8, 459-465.
- [12] R. J. Libera, Some classes of regular univalent functions, Proc. Amer. Math. Soc., 16 (1965), 755-758.

- [13] G. Murugusundaramoorthy, A class of Ruscheweyh-type harmonic univalent functions with varying arguments, Southwest J. Pure Appl. Math., 2 (2003), 90-95.
- [14] T. M. Seoudy, On certain classes of harmonic p-valent functions defined by an integral operator, Internat. J. Math. Anal., (2013), 1-7.
- [15] H. Silverman, Harmonic univalent functions with negative coe cients, J. Math. Anal. Appl. 220 (1998), no. 1, 283-289.
- [16] H. Silverman and E. M. Silvia, Subclasses of harmonic univalent functions, New Zealand J. Math. 28 (1999), no. 2, 275-284.

M. K. AOUF, DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, UNIVERSITY OF MANSOURA, MANSOURA 35516, EGYPT

E-mail address: mkaouf127@yahoo.com

236

R. M. EL-Ashwah, Department of Mathematics, Faculty of Science, University of Damietta, New Damietta 34517, Egypt

E-mail address: r_elashwah@yhoo.com

F. M. Abdulkarem, Department of Mathematics, Faculty of Science, University of Damietta, New Damietta 34517, Egypt

E-mail address: fammari76@gmail.com